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1.	 a. 7 + 10 = 						       

b. 6 + 6 = 						       

 

2.	 Write the next numbers in the sequence. 

a. 26,  27,  28,                  ,                  ,                   

b. 63,  62,                  ,                  ,                    

 

3.	 7 + 			    = 10 

 

 

4.	 Write the number that is one more than:  

a. 15 				     

b. 21 				     
 

5.	 Add 5 to each of these numbers: 

a. 23 				     

b. 51 				  
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6.	 a. How many animals are there all together? 			   

b. Colour the field green that has the largest number of animals. 

 

 

 

 

7.	 The farmer has to buy new gates for some fields.   

He needs 23 gates for Tawny Farm, 35 gates for  

Snowy Farm and 17 gates for Hawk Farm.   

Write these numbers in order from lowest to highest. 

                 ,                  ,                   

 

8.	 The farmer has to buy some new food for the lambs.  Each bag costs 64p.   

Draw the coins he could use to buy this? 

 

 

 

 

9.	 There are 3 red chickens, 7 brown chickens and 5 yellow chickens.  How many 

chickens are there altogether?   				     
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10.	 Answer the following calculations: 

a. 13 - 8 = 			    

b. 21 - 9 = 			    

c. 9 - 6 = 			    

 

11.	 Each hen laid 3 eggs on Saturday. There were 7 hens. How many eggs did they 

lay altogether? 

�  

 

 

 

12.	 Which animal will be the lightest? 				     

 

 

 

 

13.	 Complete the pattern. 
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14.	 There are 15 sheep in Tawny Farm.  The farmer has 3 pens to keep them in. He 

must keep the same amount of sheep in each one. How many sheep will fit in 

each pen?  

�  

 

 

 

 

 

 

15.	 Draw the coins that you might use to show 16p. 

 

 

 

 

 

 

 

 

16.	 Write two different ways to make 40:  
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17.	 a. Colour half of the horses.                      b. Colour one quarter of the pigs.  

 

 

 

 

 

 

18.	 Which is bigger? ¼  of the field or ½ of the field? 

 

 

 

 

 

 

19.	 What is 30 + 40? 				     

20.	 What is 70 - 10?  				     

21.	 Name these shapes. 
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22.	 Draw a circle around the cylinder. 

 

 

 

 

23.	 Draw the hands on the clocks to show the correct times. 

 

 

 

 

 

24.	 Draw a line of symmetry on the square. 

 

 

 

 

25.	 a. What day comes after Tuesday? 				      

b. What month comes before August? 				  

3 marks

1 mark

2 marks

1 mark

visit twinkl.scot



**END OF TEST** total for 
this page

First Level Primary 2 Baseline Assessment - Numeracy and Mathematics 7

3 marks

Page 7 of 7

26.	 Look at the chart below. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

a. How many sheep are there? 				     

b. Which animal is there most of?  				     

c. How many horses are there? 				  
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A Bar Chart to Show the Number of Animals on a Farm
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1. a. 17 
b. 12 2 marks

2. a. 29, 30, 31 
b. 61, 60, 59 2 marks

3. 3 1 mark

4. a. 16 
b. 22 2 marks

5. a. 28 
b. 56 2 marks

6.
a. 17 
b. The sheep field has 
the most.

2 marks

7. 17, 23, 35 1 mark

8.
answers may vary. 
Accept any correct 
ways of making 64p.

1 mark

9. 15 1 mark

10.
a. 5 
b. 12 
c. 3

3 marks

11. 21 1 mark

12. chicken 1 mark

13. square, triangle, 
circle 1 mark

14. 5 1 mark

15.

Answers may 
vary. Accept any 
combination of coins 
to make 16p.

1 mark

16.

Answers may vary. 
Accept any two 
different ways of 
making 40. 

2 marks

17. One horse coloured 
and one pig coloured. 2 marks

18. half 1 mark

19. 70 1 mark

20. 60 1 mark

21. triangle, square, 
circle, rectangle 4 marks

22. 1 mark

23. 3 marks

24.

Answers may vary. 
Accept any correct 
line of symmetry.

1 mark

25. a. Wednesday 
b. July 2 marks

26.
a. 6 
b. chickens 
c. 2

3 marks
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